# ON THE LIE DERIVATIVE OF FORMS OF BIDEGREE 

BUI CAO VAN


#### Abstract

The aim of this work is to study some properties of the Lie derivative of forms of bidegree on a $n$-dimensional complex manifold $M$. More precisely, we give sufficient conditions such that the Lie derivative $L_{X} \omega$ of bidegree ( $p, p$ ) form $\omega$ along the vector field $X$ is also the bidegree $(p, p)$ form.


## 1. Introduction

The Lie derivative on differential forms is important operation. This is a generalization of the notion of directional derivative of a function. The Lie differentiation theory plays an important role in studying automorphisms of differential geometric structures. Moreover, the Lie derivative also is an essential tool in the Riemannian geometry. The Lie derivative of forms and its application was investigated by many authors (see [5], [6, [7], 8], 11], [12, [13] and the references given therein). Recently, the authors of [1] constructed the Lie derivative of the real currents on Riemann manifolds and given some applications on Lie groups. The main goal of the present work is to investigate some properties of the Lie derivative of differential forms of bidegree. More precisely, we shall give a sufficient conditions such that the Lie derivative $L_{X} \omega$ of bidegree $(p, p)$ form $\omega$ along vector field $X$ is also the bidegree ( $p, p$ ) form (Theorem 3.5). We would like to emphasize that our interest for studying the Lie derivative of forms of bidegree stems from the ideas for construction of Lie derivative of the currents of bidegree. It will be useful in studying of the pluripotential theory.

## 2. Preliminaries

Let $M$ be a $n$-dimensional complex manifold and let $\left(U,\left\{z_{1}, z_{2}, \ldots, z_{n}\right\}\right), z_{j}=$ $x_{j}+i y_{j}, j=\overline{1, n}$ be local complex coordinates on an open $U \subset M$. If we identify $\mathbb{C}^{n}$ with $\mathbb{R}^{2 n}$ then the linear forms $d x_{j}, d y_{j}$ can be written in a unique way as linear combinations with complex coefficients of $d z_{j}=d x_{j}+i d y_{j}$ and $d \overline{z_{j}}=d x_{j}-i d y_{j}$. For each $j=1, \ldots, n$, we use operators

$$
\frac{\partial}{\partial z_{j}}:=\frac{1}{2}\left(\frac{\partial}{\partial x_{j}}-i \frac{\partial}{\partial y_{j}}\right) ; \quad \frac{\partial}{\partial \bar{z}_{j}}:=\frac{1}{2}\left(\frac{\partial}{\partial x_{j}}+i \frac{\partial}{\partial y_{j}}\right)
$$

[^0]the second operator is called Cauchy-Riemann operator. Let $I=\left\{j_{1}, \ldots, j_{r}\right\} \subset$ $\{1, \ldots, n\}$ be multi-index. We denote $d z_{I}=d z_{j_{1}} \wedge \ldots \wedge d z_{j_{r}}, d \bar{z}_{I}=d \bar{z}_{j_{1}} \wedge \ldots \wedge d \bar{z}_{j_{r}}$. Then any $k$-form $\omega$ on $M$ can be written locally in a unique way as
$$
\omega=\sum_{|J|+|K|=k} \varphi_{J K} d z_{J} \wedge d \bar{z}_{K}
$$
where $\varphi_{J K} \in C^{\infty}(M, \mathbb{C})$ are functions with complex values. We say that $\omega$ is $a$ form of bidegree $(p, q)$ if $\varphi_{J K}=0$ when either $|J| \neq p$ and $|K| \neq q$.

Note that, every differential form of degree $k$ can be written uniquely as sum of differential forms of types $(p, q)$, where $p+q=k$. We denote by $\Omega^{(p, q)}(M, \mathbb{C})$ the space of differential forms of bidegree ( $\mathrm{p}, \mathrm{q}$ ) on $M$ and $\Omega^{k}(M, \mathbb{C})=\bigoplus_{p+q=k} \Omega^{(p, q)}(M, \mathbb{C})$. If $\omega \in \Omega^{(p, q)}(M, \mathbb{C})$ then $\omega$ can be written as

$$
\omega=\sum_{|J|=p,|K|=q} \omega_{J K} d z_{J} \wedge d \bar{z}_{K}
$$

Next, we need recalling the differential operators. For each differential $(p, q)$-form $\omega$, we set

$$
\begin{aligned}
& \partial \omega=\sum_{|J|=p,|K|=q} \partial \varphi_{J K} \wedge d z_{J} \wedge d \bar{z}_{K}=\sum_{|J|=p,|K|=q} \sum_{j=1}^{n} \frac{\partial \varphi_{I J}}{\partial z_{j}} d z_{j} \wedge d z_{J} \wedge d \bar{z}_{K} \\
& \bar{\partial} \omega=\sum_{|J|=p,|K|=q} \bar{\partial} \varphi_{J K} \wedge d z_{J} \wedge d \bar{z}_{K}=\sum_{|J|=p,|K|=q} \sum_{j=1}^{n} \frac{\partial \varphi_{I J}}{\partial \bar{z}_{j}} d \bar{z}_{j} \wedge d z_{J} \wedge d \bar{z}_{K}
\end{aligned}
$$

and

$$
d \omega=\sum_{|J|=p,|K|=q} d \varphi_{J K} \wedge d z_{J} \wedge d \bar{z}_{K}
$$

It is easy to see that if $\omega$ is a form of bidegree of $(p, q)$ then $\partial \omega$ and $\bar{\partial} \omega$ are forms of bidegree of $(p+1, q)$ and $(p, q+1)$ respectively. As in the case of real differential forms, if the degree of $\omega$ is positive, i.e if $\omega$ is not a scalar valued function, then the operator $d$ of exterior differentiation has to be distinguished from the differential $d$. In particular, the former satisfies $d^{2}=d d=0$. Furthermore, $d=\partial+\bar{\partial}$ and hence

$$
0=d^{2} \omega=\partial^{2} \omega+(\partial \bar{\partial}+\bar{\partial} \partial) \omega+\bar{\partial}^{2} \omega
$$

Since all three terms are of different types, we conclude that $\partial^{2}=0 ; \bar{\partial}^{2}=0 ; \partial \bar{\partial}=$ $-\bar{\partial} \partial$

Another important, differential operator that will be used the paper is the operator $d^{c}$ defined by $d^{c}=i(\bar{\partial}-\partial)$. Note that $d d^{c}=2 i \partial \bar{\partial}$ and that, if $u \in \mathcal{C}^{2}(U)$, then

$$
d d^{c} u=2 i \sum_{j, k=1}^{n} \frac{\partial^{2} u}{\partial z_{j} \partial \bar{z}_{k}} d z_{j} \wedge d \bar{z}_{k}
$$

The set of vector fields on M is denoted by $\mathfrak{B}_{\mathbb{C}}(M)$ and the set of holomorphic functions on M is denoted by $\mathcal{O}(M)$. A vector field $X=\left(X_{1}, \ldots, X_{n}\right)$ is called a holomorphic vector field if the functions $X_{j}: M \rightarrow \mathbb{C}$ are holomorphic, $X_{j} \in \mathcal{O}(M)$. The set of holomorphic vector fields on $M$ is denoted by $\mathfrak{B}_{\text {hol }}^{(1,0)}(M)$. We denote set of holomorphic p-forms on $M$ by let $\Omega_{h o l}^{p}(M)$, whose coordinate functions are
holomorphic; that is, if $U \subseteq M$ is a coordinate neighborhood, with holomorphic local coordinates $\left(z_{1}, z_{2}, \ldots, z_{n}\right)$ then $\omega \in \Omega_{h o l}^{p}(M)$ implies

$$
\omega=\sum_{1 \leq i_{1} \leq \ldots \leq i_{p} \leq n} \omega_{i_{1} \ldots i_{p}} d z_{i_{1}} \wedge d z_{i_{2}} \wedge \ldots \wedge d z_{i_{p}}, \omega_{i_{1} \ldots i_{p}} \in \mathcal{O}(M)
$$

$f \in \Omega_{\text {hol }}^{0}(M)=\mathcal{O}(M)$ if and only if $\bar{\partial} f=0$. More generally,

$$
\omega \in \Omega_{h o l}^{p}(M) \Leftrightarrow \omega \in \Omega^{(p, 0)}(M) \cap \operatorname{ker} \bar{\partial}
$$

Next, we recall the concept and basis properties of Lie derivative of forms along vector field $X$.

Definition 2.1. Suppose that $X \in \mathfrak{B}_{\mathbb{C}}(M), \omega \in \Omega^{k}(M, \mathbb{C})$ and let $\left\{\varphi_{t}\right\}$ be an one-parameter group of transformations on M generated by $X$. The map

$$
\begin{aligned}
L_{X} \omega: M & \rightarrow \bigwedge^{k} T_{p} M \\
p & \mapsto\left(L_{X} \omega\right)_{p}
\end{aligned}
$$

is called the Lie derivative of $\omega$ with respect to $X$ and is denoted by $L_{X} \omega$, where $\left(L_{X} \omega\right)_{p}$ is defined by:

$$
\left(L_{X} \omega\right)_{p}=\lim _{t \rightarrow 0} \frac{\left(\varphi_{t}\right)^{*} \omega_{p}-\omega_{p}}{t}=\left.\frac{d}{d t}\left(\left(\varphi_{t}\right)^{*} \omega_{p}\right)\right|_{t=0}, \forall p \in M
$$

where $\left(\varphi_{t}\right)^{*} \omega$ is the pull-back of $\omega$ along $\varphi_{t}$.
For $f \in C^{\infty}(M, \mathbb{C}), \varphi_{t}^{*} f=f o \varphi_{t}$ also belongs to $C^{\infty}(M, \mathbb{C})$. Then the Lie derivative of $f$ with respect to $X$, is denoted by $L_{X} f$ and is defined by:

$$
\begin{aligned}
\left(L_{X} f\right)_{x} & =\lim _{t \rightarrow 0} \frac{f\left(\varphi_{t}(x)\right)-f(x)}{t}=\lim _{t \rightarrow 0} \frac{f(\varphi(x, t))-f(x)}{t} \\
& =\lim _{t \rightarrow 0} \frac{f\left(\varphi_{x}(t)\right)-f\left(\varphi_{x}(0)\right)}{t}=\left.\frac{d}{d t}\left(\varphi_{x} f\right)\right|_{t=0}=X_{x}[f]=(X[f])(x)
\end{aligned}
$$

Obviously, $L_{X}: \Omega^{k}(M, \mathbb{C}) \rightarrow \Omega^{k}(M, \mathbb{C})$ is a linear map.
We now state a number of properties of Lie derivatives without proofs. Most of these proofs are fairly straightforward computations, often tedious, and can be found in most texts, including Warner [14, Morita [15] and Gallot, Hullin and Lafontaine [16].

Proposition 2.2. For every vector field $X \in \mathfrak{B}_{\mathbb{C}}(M)$, the following properties hold:
i) For all $\omega \in \Omega^{k}(M, \mathbb{C})$ and all $\mu \in \Omega^{r}(M, \mathbb{C})$,

$$
L_{X}(\omega \wedge \mu)=\left(L_{X} \omega\right) \wedge \mu+\omega \wedge\left(L_{X} \mu\right)
$$

that is, $L_{X}$ is a derivation.
ii) For all $\omega \in \Omega^{k}(M, \mathbb{C})$, for all $X, X_{1}, X_{2}, \ldots, X_{k} \in \mathfrak{B}_{\mathbb{C}}(M)$,

$$
\left(L_{X} \omega\right)\left(X_{1}, \ldots, X_{k}\right)=L_{X}\left(\omega\left(X_{1}, \ldots, X_{k}\right)\right)-\sum_{i=1}^{k} \omega\left(X_{1}, \ldots, L_{X} X_{i}, \ldots, X_{k}\right)
$$

iii) The Lie derivative commutes with $d: L_{X} \circ d=d \circ L_{X}$.

Definition 2.3. For every vector field $X \in \mathfrak{B}_{\mathbb{C}}(M)$, for all $k \geq 1$, there is a linear $\operatorname{map}, i_{X}: \Omega^{(k)}(M, \mathbb{C}) \rightarrow \Omega^{k-1}(M, \mathbb{C})$, defined so that, for all $\omega \in \Omega^{k}(M, \mathbb{C})$, for all $p \in M$, for all $u_{1}, u_{2}, \ldots, u_{k-1} \in T_{p} M$,

$$
\left(i_{X} \omega\right)_{p}\left(u_{1}, u_{2}, \ldots, u_{k-1}\right)=\omega_{p}\left(X_{p}, u_{1}, u_{2}, \ldots, u_{k-1}\right)
$$

Next, we give some more interested properties of $L_{X}$. For this, we have to define the interior multiplication by a vector field $i_{X}$.

Obviously, $i_{X}$ is $C^{\infty}(M, \mathbb{C})$-linear in $M$ and it is easy to check that $i_{X} \omega$ is indeed a smooth $(k-1)$-form. When $k=0$, we set $i_{X} \omega=0$. Observe that $i_{X} \omega$ is also given by $\left(i_{X} \omega\right)_{p}=i_{X_{p}} \omega_{p}, \forall p \in M$, where $i_{X_{p}}$ is the interior product (or insertion operator). As a consequence, the operator $i_{X}$ is an anti-derivation of degree -1, that is, we have $i_{X}^{2}=0 ; i_{X} i_{Y}+i_{Y} i_{X}=0 ; i_{X}(\omega \wedge \mu)=i_{X} \omega \wedge \mu+(-1)^{k} \omega \wedge i_{X} \mu ; i_{X}(\omega+\mu)=$ $i_{X} \omega+i_{X} \mu ; i_{X+Y} \omega=i_{X} \omega+i_{Y} \omega ; i_{X} d \varphi=L_{X} \varphi ; i_{\varphi X} \omega=\varphi i_{X} \omega ; i_{X}(\varphi \omega)=\varphi i_{X} \omega$, for all $X, Y \in \mathfrak{B}_{\mathbb{C}}(M)$, for all $\omega, \mu \in \Omega^{k}(M, \mathbb{C})$, for all $\varphi \in C^{\infty}(M, \mathbb{C})$.

The following proposition is the well known result.
Theorem 2.4. (Cartan's formula) For every vector field $X \in \mathfrak{B}_{\mathbb{C}}(M)$ and for every $\omega \in \Omega^{k}(M, \mathbb{C})$, we have

$$
L_{X} \omega=d i_{X} \omega+i_{X} d \omega
$$

that is, $L_{X}=d o i_{X}+i_{X} o d$.

## 3. The Lie Derivative of differential form of bidegree

Let $\omega \in \Omega^{(p, p)}(M, \mathbb{C})$. In general case, $L_{X} \omega \notin \Omega^{(p, p)}(M, \mathbb{C})$, the illustrated example will be mentioned late. Our main goal is to find conditions on $X$ such that $L_{X} \omega$ belongs to $\Omega^{(p, p)}(M, \mathbb{C})$.

The following theorem is a key for proving the main result of this section.
Theorem 3.1. Let $\omega=\sum_{j, k=1}^{n} \varphi_{j k} d z_{j} \wedge d \bar{z}_{k} \in \Omega^{(1,1)}(M, \mathbb{C}), X=\left(X_{1}, X_{2}, \ldots, X_{n}\right) \in$ $\mathfrak{B}_{\mathbb{C}}(M)$. Then we have

$$
\begin{equation*}
L_{X} \omega=\sum_{j, k=1}^{n}\left[X\left[\varphi_{j k}\right] d z_{j} \wedge d \bar{z}_{k}+\varphi_{j k}\left(d X_{j} \wedge d \bar{z}_{k}-d \bar{X}_{k} \wedge d z_{j}\right)\right] \tag{3.1}
\end{equation*}
$$

Proof. For every $Y \in \mathfrak{B}_{\mathbb{C}}(M)$, we have

$$
\begin{aligned}
\left(i_{X} \omega\right)(Y) & =\omega(X, Y)=\sum_{j, k=1}^{n} \varphi_{j k} d z_{j} \wedge d \bar{z}_{k}(X, Y)=\sum_{j, k=1}^{n} \varphi_{j k}\left|\begin{array}{cc}
d z_{j}(X) & d z_{j}(Y) \\
d \bar{z}_{k}(X) & d \bar{z}_{k}(Y)
\end{array}\right| \\
& =\sum_{j, k=1}^{n} \varphi_{j k}\left|\begin{array}{cc}
X_{j} & Y_{j} \\
\bar{X}_{k} & \bar{Y}_{k}
\end{array}\right|=\sum_{j, k=1}^{n} \varphi_{j k}\left(X_{j} \bar{Y}_{k}-\bar{X}_{k} Y_{j}\right) \\
& =\sum_{j, k=1}^{n} \varphi_{j k}\left(X_{j} d \bar{z}_{k}(Y)-\bar{X}_{k} d z_{j}(Y)\right) \\
& =\left(\sum_{j, k=1}^{n} \varphi_{j k}\left(X_{j} d \bar{z}_{k}-\bar{X}_{k} d z_{j}\right)\right)(Y), \forall Y \in \mathfrak{B}(M)
\end{aligned}
$$

Thus $i_{X} \omega=\sum_{j, k=1}^{n} \varphi_{j k}\left(X_{j} d \bar{z}_{k}-\bar{X}_{k} d z_{j}\right)$. Hence

$$
\begin{align*}
d\left(i_{X} \omega\right)= & \sum_{j, k=1}^{n}\left(d\left(\varphi_{j k} X_{j}\right) \wedge d \bar{z}_{k}-d\left(\varphi_{j k} \bar{X}_{k}\right) \wedge d z_{j}\right) \\
= & \sum_{j, k=1}^{n} \sum_{l=1}^{n}\left[\frac{\partial\left(\varphi_{j k} X_{j}\right)}{\partial z_{l}} d z_{l}+\frac{\partial\left(\varphi_{j k} X_{j}\right)}{\partial \bar{z}_{l}} d \bar{z}_{l}\right] \wedge d \bar{z}_{k} \\
& \quad-\sum_{j, k=1}^{n} \sum_{l=1}^{n}\left[\frac{\partial\left(\varphi_{j k} \bar{X}_{k}\right)}{\partial z_{l}} d z_{l}+\frac{\partial\left(\varphi_{j k} \bar{X}_{k}\right)}{\partial \bar{z}_{l}} d \bar{z}_{l}\right] \wedge d z_{j} \\
= & \sum_{j, k=1}^{n}\left[\sum_{l=1}^{n} \frac{X_{j} \partial \varphi_{j k}}{\partial z_{l}} d z_{l} \wedge d \bar{z}_{k}+\sum_{l=1}^{n} \frac{\varphi_{j k} \partial X_{j}}{\partial z_{l}} d z_{l} \wedge d \bar{z}_{k}+\sum_{l=1}^{n} \frac{X_{j} \partial \varphi_{j k}}{\partial \bar{z}_{l}} d \bar{z}_{l} \wedge d \bar{z}_{k}+\right. \\
& +\sum_{l=1}^{n} \frac{\varphi_{j k} \partial X_{j}}{\partial \bar{z}_{l}} d \bar{z}_{l} \wedge d \bar{z}_{k}-\sum_{l=1}^{n} \frac{\bar{X}_{k} \partial \varphi_{j k}}{\partial z_{l}} d z_{l} \wedge d z_{j}-\sum_{l=1}^{n} \frac{\varphi_{j k} \partial \bar{X}_{k}}{\partial z_{l}} d z_{l} \wedge d z_{j}- \\
& \left.\quad-\sum_{l=1}^{n} \frac{\bar{X}_{k} \partial \varphi_{j k}}{\partial \bar{z}_{l}} d \bar{z}_{l} \wedge d z_{j}-\sum_{l=1}^{n} \frac{\varphi_{j k} \partial \bar{X}_{k}}{\partial z_{l}} d \bar{z}_{l} \wedge d z_{j}\right] \tag{3.2}
\end{align*}
$$

On other hand, for every vector fields $Y, Z \in \mathfrak{B}_{\mathbb{C}}(M)$, we have

$$
\begin{aligned}
& \left(i_{X} d \omega\right)(Y, Z)=d \omega(X, Y, Z)=\sum_{j, k=1}^{n} d \varphi_{j k} \wedge d z_{j} \wedge d \bar{z}_{k}(X, Y, Z) \\
& =\sum_{j, k=1}^{n}\left|\begin{array}{ccc}
d \varphi_{j k}(X) & d \varphi_{j k}(Y) & d \varphi_{j k}(Z) \\
d z_{j}(X) & d z_{j}(Y) & d z_{j}(Z) \\
d \bar{z}_{k}(X) & d \bar{z}_{k}(Y) & d \bar{z}_{k}(Z)
\end{array}\right|=\sum_{j, k=1}^{n}\left|\begin{array}{ccc}
X\left[\varphi_{j k}\right] & Y\left[\varphi_{j k}\right] & Z\left[\varphi_{j k}\right] \\
X_{j} & Y_{j} & Z_{j} \\
\bar{X}_{k} & \bar{Y}_{k} & \bar{Z}_{k}
\end{array}\right| \\
& =\sum_{j, k=1}^{n}\left[X\left[\varphi_{j k}\right]\left|\begin{array}{cc|cc|ccc}
Y_{j} & Z_{j} \\
\bar{Y}_{k} & \bar{Z}_{k}
\end{array}\right|-X_{j}\left|\begin{array}{cc}
Y\left[\varphi_{j k}\right] & Z\left[\varphi_{j k}\right] \\
\bar{Y}_{k} & \bar{Z}_{k}
\end{array}\right|+\bar{X}_{k}\left|\begin{array}{cc}
Y\left[\varphi_{j k}\right] & Z\left[\varphi_{j k}\right] \\
Y_{j} & Z_{j}
\end{array}\right|\right] \\
& =\sum_{j, k=1}^{n}\left[X\left[\varphi_{j k}\right]\left|\begin{array}{cc}
d z_{j} & d z_{j} \\
d \bar{z}_{k} & d \bar{z}_{k}
\end{array}\right|-X_{j}\left|\begin{array}{cc}
d \varphi_{j k} & d \varphi_{j k} \\
d \bar{z}_{k} & d \bar{z}_{k}
\end{array}\right|+\bar{X}_{k}\left|\begin{array}{cc}
d \varphi_{j k} & d \varphi_{j k} \\
d z_{j} & d z_{j}
\end{array}\right|\right](Y, Z) \\
& =\left[\sum_{j, k=1}^{n}\left(X\left[\varphi_{j k}\right] d z_{j} \wedge d \bar{z}_{k}-X_{j} d \varphi_{j k} \wedge d \bar{z}_{k}+\bar{X}_{k} d \varphi_{j k} \wedge d z_{j}\right)\right](Y, Z), \forall Y, Z \in \mathfrak{B}_{\mathbb{C}}(M) \text {. }
\end{aligned}
$$

Thus

$$
\begin{align*}
i_{X} d \omega= & \sum_{j, k=1}^{n}\left(X\left[\varphi_{j k}\right] d z_{j} \wedge d \bar{z}_{k}-X_{j} d \varphi_{j k} \wedge d \bar{z}_{k}+\bar{X}_{k} d \varphi_{j k} \wedge d z_{j}\right) \\
=\sum_{j, k=1}^{n} & {\left[\sum_{l=1}^{n}\left(\frac{\partial \varphi_{j k}}{\partial z_{l}} X_{l}+\frac{\partial \varphi_{j k}}{\partial \bar{z}_{l}} \overline{X_{l}}\right) d z_{l} \wedge d \bar{z}_{k}-X_{j} \sum_{l=1}^{n}\left(\frac{\partial \varphi_{j k}}{\partial z_{l}} d z_{l}+\frac{\partial \varphi_{j k}}{\partial \bar{z}_{l}} d \bar{z}_{l}\right) \wedge d \bar{z}_{k}+\right.} \\
& \left.+\overline{X_{k}} \sum_{l=1}^{n}\left(\frac{\partial \varphi_{j k}}{\partial z_{l}} d z_{l}+\frac{\partial \varphi_{j k}}{\partial \bar{z}_{l}} d \bar{z}_{l}\right) \wedge d z_{j}\right] \\
=\sum_{j, k=1}^{n} & {\left[\sum_{l=1}^{n} \frac{X_{l} \partial \varphi_{j k}}{\partial z_{l}} d z_{l} \wedge d \bar{z}_{k}+\bar{X}_{l} \sum_{l=1}^{n} \frac{\partial \varphi_{j k}}{\partial \bar{z}_{l}} d z_{j} \wedge d \bar{z}_{k}-\sum_{l=1}^{n} \frac{X_{j} \partial \varphi_{j k}}{\partial z_{l}} d z_{l} \wedge d \bar{z}_{k}-\right.} \\
& \left.\quad-\sum_{l=1}^{n} \frac{X_{j} \partial \varphi_{j k}}{\partial \bar{z}_{l}} d \bar{z}_{l} \wedge d \bar{z}_{k}+\sum_{l=1}^{n} \frac{\bar{X}_{k} \partial \varphi_{j k}}{\partial z_{l}} d z_{l} \wedge d z_{j}+\sum_{l=1}^{n} \frac{\bar{X}_{k} \partial \varphi_{j k}}{\partial \bar{z}_{l}} d \bar{z}_{l} \wedge d z_{j}\right] . \tag{3.3}
\end{align*}
$$

From (3.2), 3.3) and applying Cartan's formula, we obtain

$$
\begin{aligned}
L_{X} \omega= & d\left(i_{X} \omega\right)+i_{X}(d \omega) \\
=\sum_{j, k=1}^{n} & {\left[\sum_{l=1}^{n} \frac{X_{j} \partial \varphi_{j k}}{\partial z_{l}} d z_{l} \wedge d \bar{z}_{k}+\sum_{l=1}^{n} \frac{\varphi_{j k} \partial X_{j}}{\partial z_{l}} d z_{l} \wedge d \bar{z}_{k}+\sum_{l=1}^{n} \frac{X_{j} \partial \varphi_{j k}}{\partial \bar{z}_{l}} d \bar{z}_{l} \wedge d \bar{z}_{k}+\right.} \\
& +\sum_{l=1}^{n} \frac{\varphi_{j k} \partial X_{j}}{\partial \bar{z}_{l}} d \bar{z}_{l} \wedge d \bar{z}_{k}-\sum_{l=1}^{n} \frac{\bar{X}_{k} \partial \varphi_{j k}}{\partial z_{l}} d z_{l} \wedge d z_{j}-\sum_{l=1}^{n} \frac{\varphi_{j k} \partial \bar{X}_{k}}{\partial z_{l}} d z_{l} \wedge d z_{j}- \\
& \quad-\sum_{l=1}^{n} \frac{\bar{X}_{k} \partial \varphi_{j k}}{\partial \bar{z}_{l}} d \bar{z}_{l} \wedge d z_{j}-\sum_{l=1}^{n} \frac{\varphi_{j k} \partial \bar{X}_{k}}{\partial z_{l}} d \bar{z}_{l} \wedge d z_{j}+\sum_{l=1}^{n} \frac{X_{l} \partial \varphi_{j k}}{\partial z_{l}} d z_{l} \wedge d \bar{z}_{k}+ \\
& +\bar{X}_{l} \sum_{l=1}^{n} \frac{\partial \varphi_{j k}}{\partial \bar{z}_{l}} d z_{j} \wedge d \bar{z}_{k}-\sum_{l=1}^{n} \frac{X_{j} \partial \varphi_{j k}}{\partial z_{l}} d z_{l} \wedge d \bar{z}_{k}- \\
= & \left.\sum_{l=1}^{n} \frac{X_{j} \partial \varphi_{j k}}{\partial \bar{z}_{l}} d \bar{z}_{l} \wedge d \bar{z}_{k}+\sum_{l=1}^{n} \frac{\bar{X}_{k} \partial \varphi_{j k}}{\partial z_{l}} d z_{l} \wedge d z_{j}+\sum_{l=1}^{n} \frac{\bar{X}_{k} \partial \varphi_{j k}}{\partial \bar{z}_{l}} d \bar{z}_{l} \wedge d z_{j}\right] \\
=\sum_{j, k=1}^{n} & {\left[\sum_{l=1}^{n}\left(X_{l} \frac{\partial \varphi_{j k}}{\partial z_{l}}+\bar{X}_{l} \frac{\partial \varphi_{j k}}{\partial \bar{z}_{l}}\right) d z_{j} \wedge d \bar{z}+\sum_{l=1}^{n} \varphi_{j k}\left(\frac{\partial X_{j}}{\partial z_{l}} d z_{l}+\frac{\partial X_{j}}{\partial \bar{z}_{l}} d \bar{z}_{l}\right) \wedge d \bar{z}_{k}\right.} \\
& \left.-\varphi_{j k} \sum_{l=1}^{n}\left(\frac{\partial \overline{X_{k}}}{\partial z_{l}} d z_{l}+\frac{\partial \bar{X}_{k}}{\partial \bar{z}_{l}} d \bar{z}_{l}\right) \wedge d z_{j}\right] \\
=\sum_{j, k=1}^{n} & {\left[X\left[\varphi_{j k}\right] d z_{j} \wedge d \bar{z}_{k}+\varphi_{j k}\left(d X_{j} \wedge d \bar{z}_{k}-d \bar{X}_{k} \wedge d z_{j}\right)\right] . }
\end{aligned}
$$

We easily get the following corollary.
Corollary 3.2. Let $X=\left(X_{1}, X_{2}, \ldots, X_{n}\right) \in \mathfrak{B}_{\text {hol }}^{(1,0)}(M)$ be a holomorphic vector field on $M$ and $\omega=\sum_{j, k=1}^{n} \varphi_{j k} d z_{j} \wedge d \bar{z}_{k} \in \Omega^{(1,1)}(M, \mathbb{C})$. Then $L_{X} \omega \in \Omega^{(1,1)}(M, \mathbb{C})$
and $L_{X} \omega$ is defined by formula:

$$
\begin{equation*}
L_{X} \omega=\sum_{j, k=1}^{n}\left[L_{X} \varphi_{j k} d z_{j} \wedge d \bar{z}_{k}+\sum_{l=1}^{n} \varphi_{j k} \frac{\partial X_{j}}{\partial z_{l}} d z_{l} \wedge d \bar{z}_{k}-\sum_{l=1}^{n} \varphi_{j k} \frac{\partial \bar{X}_{k}}{\partial \bar{z}_{l}} d \bar{z}_{l} \wedge d z_{j}\right] \tag{3.4}
\end{equation*}
$$

Proof. Since $X=\left(X_{1}, X_{2}, \ldots, X_{n}\right) \in \mathfrak{B}_{\text {hol }}^{(1,0)}(M)$ be a holomorphic vector field on $M$, thus $\frac{\partial X_{j}}{\partial \bar{z}_{l}}=0 ; \frac{\partial \bar{X}_{k}}{\partial z_{l}}=0, \forall j, k, l=\overline{1, n}$. Hence, applying Theorem 3.1. we have

$$
\begin{aligned}
L_{X} \omega= & \sum_{j, k=1}^{n}\left[X\left[\varphi_{j k}\right] d z_{j} \wedge d \bar{z}_{k}+\varphi_{j k}\left(d X_{j} \wedge d \bar{z}_{k}-d \bar{X}_{k} \wedge d z_{j}\right)\right] \\
= & \sum_{j, k=1}^{n}\left[X\left[\varphi_{j k}\right] d z_{j} \wedge d \bar{z}_{k}+\varphi_{j k}\left(\sum_{l=1}^{n} \frac{\partial X_{j}}{\partial z_{l}} d z_{l} \wedge d \bar{z}+\sum_{l=1}^{n} \frac{\partial X_{j}}{\partial \bar{z}_{l}} d \bar{z}_{l} \wedge d \bar{z}_{k}-\right.\right. \\
& \left.\left.-\sum_{l=1}^{n} \frac{\partial \bar{X}_{k}}{\partial z_{l}} d z_{l} \wedge d z_{j}-\sum_{l=1}^{n} \frac{\partial \bar{X}_{k}}{\partial \bar{z}_{l}} d \bar{z}_{l} \wedge d z_{j}\right)\right] \\
= & \sum_{j, k=1}^{n}\left[L_{X} \varphi_{j k} d z_{j} \wedge d \bar{z}_{k}+\sum_{l=1}^{n} \varphi_{j k} \frac{\partial X_{j}}{\partial z_{l}} d z_{l} \wedge d \bar{z}_{k}-\sum_{l=1}^{n} \varphi_{j k} \frac{\partial \bar{X}_{k}}{\partial \bar{z}_{l}} d \bar{z}_{l} \wedge d z_{j}\right] .
\end{aligned}
$$

So that $L_{X} \omega \in \Omega^{(1,1)}(M, \mathbb{C})$.
Example 3.3. Let $M=\mathbb{C}^{2}, \omega=z_{1}^{2} d z_{1} \wedge d \bar{z}_{1}, X=\left(z_{1}, z_{2}\right)$. Calculate the Lie derivative of differential form $\omega$ ?

Applying Theorem 3.1. we obtain

$$
\begin{aligned}
L_{X} \omega & =\sum_{j, k=1}^{2}\left[X\left[\varphi_{j k}\right] d z_{j} \wedge d \bar{z}_{k}+\varphi_{j k}\left(d X_{j} \wedge d \bar{z}_{k}-d \bar{X}_{k} \wedge d z_{j}\right)\right] \\
& =X\left[z_{1}^{2}\right] d z_{1} \wedge d \bar{z}_{1}+z_{1}^{2}\left(d X_{1} \wedge d \bar{z}_{1}-d \bar{X}_{1} \wedge d z_{1}\right) \\
& =2 z_{1}^{2} d z_{1} \wedge d \bar{z}_{1}+z_{1}^{2}\left(d z_{1} \wedge d \bar{z}_{1}-d \bar{z}_{1} \wedge d z_{1}\right)=4 z_{1}^{2} d z_{1} \wedge d \bar{z}_{1}
\end{aligned}
$$

Example 3.4. Let $M=\mathbb{C}^{2}, \omega=z_{1} z_{2} d z_{2} \wedge d \bar{z}_{2}, X=\left(\bar{z}_{2}, \bar{z}_{1}\right)$. Calculate the Lie derivative of differential form $\omega$ ?

Note that $X$ is not a holomorphic vector field. Applying Theorem 3.1, we obtain

$$
\begin{aligned}
L_{X} \omega & =\sum_{j, k=1}^{2}\left[X\left[\varphi_{j k}\right] d z_{j} \wedge d \bar{z}_{k}+\varphi_{j k}\left(d X_{j} \wedge d \bar{z}_{k}-d \bar{X}_{k} \wedge d z_{j}\right)\right] \\
& =X\left[z_{1} z_{2}\right] d z_{2} \wedge d \bar{z}_{2}+z_{1} z_{2}\left(d X_{2} \wedge d \bar{z}_{2}-d \bar{X}_{2} \wedge d z_{2}\right) \\
& =\sum_{l=1}^{2}\left[\frac{\partial\left(z_{1} z_{2}\right)}{\partial z_{l}} X_{l}+\frac{\partial\left(z_{1} z_{2}\right)}{\partial \bar{z}_{l}} \overline{X_{l}}\right] d z_{2} \wedge d \bar{z}_{2}+z_{1} z_{2}\left(d \overline{z_{1}} \wedge d \bar{z}_{2}-d z_{1} \wedge d z_{2}\right) \\
& =\left(z_{2} X_{1}+0\right) d z_{2} \wedge d \bar{z}_{2}+\left(z_{1} X_{2}+0\right) d z_{2} \wedge d \bar{z}_{2}+z_{1} z_{2} d \overline{z_{1}} \wedge d \bar{z}_{2}-z_{1} z_{2} d z_{1} \wedge d z_{2} \\
& =\left(\left|z_{1}\right|^{2}+\left|z_{2}\right|^{2}\right) d z_{2} \wedge d \bar{z}_{2}+z_{1} z_{2} d \bar{z}_{1} \wedge d \bar{z}_{2}-z_{1} z_{2} d z_{1} \wedge d z_{2}
\end{aligned}
$$

This shows that

$$
L_{X} \omega \notin \Omega^{(1,1)}\left(\mathbb{C}^{2}, \mathbb{C}\right)
$$

Now, we state the main result of this section.

Theorem 3.5. If $X=\left(X_{1}, X_{2}, \ldots, X_{n}\right) \in \mathfrak{B}_{\text {hol }}^{(1,0)}(M)$ is a holomorphic vector field on $M$ and $\omega=\sum_{|J|=|K|=p} \varphi_{J K} d z_{J} \wedge d \bar{z}_{K} \in \Omega^{(p, p)}(M, \mathbb{C})$ be the differential forms of bidegree $(p, p)$ then $L_{X} \omega \in \Omega^{(p, p)}(M, \mathbb{C})$.

Proof. We will prove Theorem 3.5 by induction. The case $\mathrm{n}=1$ is easily followed by Corollary 3.2. Assume that there is a $k \geq 1$ such that $L_{X} \omega \in \Omega^{(k, k)}(M, \mathbb{C}), \forall \omega \in$ $\Omega^{(k, k)}(M, \mathbb{C})$. We shall prove that the formula

$$
L_{X} \omega \in \Omega^{(k+1, k+1)}(M, \mathbb{C}), \forall \omega \in \Omega^{(k+1, k+1)}(M, \mathbb{C})
$$

Indeed, let

$$
\begin{aligned}
\omega & =\sum_{|J|=k+1} \varphi_{j_{1} \cdot j_{2} \ldots j_{k+1}} d z_{j_{1}} \wedge d z_{j_{2}} \wedge \ldots \wedge d z_{j_{k}} \wedge d z_{j_{k+1}} \wedge d \bar{z}_{j_{1}} \wedge d \bar{z}_{j_{2}} \wedge \ldots \wedge d \bar{z}_{j_{k}} \wedge d \bar{z}_{j_{k+1}} \\
& =(-1)^{k} \sum_{|J|=k+1} \varphi_{j_{1} \cdot j_{2} \ldots j_{k+1}} d z_{j_{1}} \wedge d z_{j_{2}} \wedge \ldots \wedge d z_{j_{k}} \wedge d \bar{z}_{j_{1}} \wedge d \bar{z}_{j_{2}} \wedge \ldots \wedge d \bar{z}_{j_{k}} \wedge\left(d z_{j_{k+1}} \wedge d \bar{z}_{j_{k+1}}\right),
\end{aligned}
$$

where $J=\left(1 \leq j_{1} \leq \ldots \leq j_{k+1} \leq n\right)$. We have

$$
\begin{aligned}
L_{X} \omega= & (-1)^{k} \sum_{|J|=k+1}\left[L_{X}\left(\left(\varphi_{j_{1} \cdot j_{2} \ldots j_{k+1}} d z_{j_{1}} \wedge \ldots \wedge d z_{j_{k}} \wedge d \bar{z}_{j_{1}} \wedge \ldots \wedge d \bar{z}_{j_{k}}\right) \wedge\left(d z_{j_{k+1}} \wedge d \bar{z}_{j_{k+1}}\right)\right)\right] \\
= & (-1)^{k} \sum_{|J|=k+1}\left[\left(L_{X}\left(\varphi_{j_{1} . j_{2} \ldots j_{k+1}} d z_{j_{1}} \wedge \ldots \wedge d z_{j_{k}} \wedge d \bar{z}_{j_{1}} \wedge \ldots \wedge d \bar{z}_{j_{k}}\right)\right) \wedge\left(d z_{j_{k+1}} \wedge d \bar{z}_{j_{k+1}}\right)+\right. \\
& \left.+\left(\varphi_{j_{1} \cdot j_{2} \ldots j_{k+1}} d z_{j_{1}} \wedge \ldots \wedge d z_{j_{k}} \wedge d \bar{z}_{j_{1}} \wedge \ldots \wedge d \bar{z}_{j_{k}}\right) \wedge L_{X}\left(d z_{j_{k+1}} \wedge d \bar{z}_{j_{k+1}}\right)\right]
\end{aligned}
$$

It follows that

$$
\begin{gathered}
L_{X}\left(\varphi_{j_{1} . j_{2} \ldots j_{k+1}} d z_{j_{1}} \wedge \ldots \wedge d z_{j_{k}} \wedge d \bar{z}_{j_{1}} \wedge \ldots \wedge d \bar{z}_{j_{k}}\right) \in \Omega^{(k, k)}(M, \mathbb{C}) \\
d z_{j_{k+1}} \wedge d \bar{z}_{j_{k+1}} \in \Omega^{(1,1)}(M, \mathbb{C}) \\
\varphi_{j_{1} \cdot j_{2} \ldots j_{k+1}} d z_{j_{1}} \wedge \ldots \wedge d z_{j_{k}} \wedge d \bar{z}_{j_{1}} \wedge \ldots \wedge d \bar{z}_{j_{k}} \in \Omega^{(k, k)}(M, \mathbb{C})
\end{gathered}
$$

and

$$
L_{X}\left(d z_{j_{k+1}} \wedge d \bar{z}_{j_{k+1}}\right) \in \Omega^{(1,1)}(M, \mathbb{C})
$$

Note that, if $\omega \in \Omega^{(k, k)}(M, \mathbb{C})$ and $\mu \in \Omega^{(l, l)}(M, \mathbb{C})$ then $\omega \wedge \mu \in \Omega^{(k+l, k+l)}(M, \mathbb{C})$. Therefore

$$
L_{X} \omega \in \Omega^{(k+1, k+1)}(M, \mathbb{C}), \forall \omega \in \Omega^{(k+1, k+1)}(M, \mathbb{C})
$$

The following result give an slight computation in the special case.
Proposition 3.6. Let $X=\left(X_{1}, X_{2}, \ldots, X_{n}\right) \in \mathfrak{B}_{\text {hol }}^{(1,0)}(M)$ is a holomorphic vector field and $X$ is bounded on $M ; \omega=\sum_{j, k=1}^{n} \varphi_{j k} d z_{j} \wedge d \bar{z}_{k} \in \Omega^{(1,1)}(M, \mathbb{C})$ be the differential forms of bidegree $(1,1)$. Then we have

$$
\begin{equation*}
L_{X} \omega=\sum_{j, k=1}^{n}\left(L_{X} \varphi_{j k}\right) d z_{j} \wedge d \bar{z}_{k} \tag{3.5}
\end{equation*}
$$

Proof. By using Corollary 3.2, we obtain

$$
L_{X} \omega=\sum_{j, k=1}^{n}\left[L_{X} \varphi_{j k} d z_{j} \wedge d \bar{z}_{k}+\sum_{l=1}^{n} \varphi_{j k} \frac{\partial X_{j}}{\partial z_{l}} d z_{l} \wedge d \bar{z}_{k}-\sum_{l=1}^{n} \varphi_{j k} \frac{\partial \bar{X}_{k}}{\partial \bar{z}_{l}} d \bar{z}_{l} \wedge d z_{j}\right]
$$

Since $X$ is a holomorphic vector field and $X$ is bounded on $M$, therefore applying Liouvile, then $X$ is constant vector field. Hence $L_{X} \omega=\sum_{j, k=1}^{n}\left(L_{X} \varphi_{j k}\right) d z_{j} \wedge d \bar{z}_{k}$.

Remark 3.7. Suppose that $X=\left(X_{1}, X_{2}, \ldots, X_{n}\right) \in \mathfrak{B}_{\text {hol }}^{(1,0)}(M)$ is a holomorphic vector field on $M$.
i) If $f \in \mathcal{O}(M)$ then $L_{X} f \in \mathcal{O}(M)$.
ii) If $\omega \in \Omega_{h o l}^{p}(M)$ then $L_{X} \omega \in \Omega_{h o l}^{p}(M)$.

Proof. i) Since $X=\left(X_{1}, X_{2}, \ldots, X_{n}\right) \in \mathfrak{B}_{\text {hol }}^{(1,0)}(M)$ is a holomorphic vector field and $f \in \mathcal{O}(M)$ is a holomorphic function on $M$, we have $\frac{\partial f}{\partial \bar{z}_{j}}=0, \forall j=\overline{1, n}$ and $\frac{\partial f}{\partial z_{j}}, \forall j=\overline{1, n}$ are holomorphic functions on $M$. Therefore

$$
L_{X} f=\sum_{j=1}^{n}\left(\frac{\partial f}{\partial z_{j}} X_{j}+\frac{\partial f}{\partial \bar{z}_{j}} \bar{X}_{j}\right)=\sum_{j=1}^{n} \frac{\partial f}{\partial z_{j}} X_{j}
$$

Hence $\frac{\partial\left(L_{X} f\right)}{\partial \bar{z}_{k}}=\sum_{j=1}^{n}\left(\frac{\partial^{2} f}{\partial z_{j} \partial \overline{z_{k}}} X_{j}+\frac{\partial f}{\partial z_{j}} \frac{\partial X_{j}}{\partial \overline{z_{k}}}\right)=0, \forall k=\overline{1, n}$. Hence $L_{X} f \in$ $\mathcal{O}(M)$.
ii) The result easily follows from i).

Remark 3.8. If $u \in C^{\infty}(M, \mathbb{C})$ then

$$
\begin{equation*}
L_{X} d d^{c} u=2 i \sum_{j, k=1}^{n} \frac{\partial^{2}\left(L_{X} u\right)}{\partial z_{j} \partial \bar{z}_{k}} d z_{j} \wedge d \bar{z}_{k} \tag{3.6}
\end{equation*}
$$

Proof. Since $\partial o L_{X}=L_{X} o \partial$ and $\bar{\partial} o L_{X}=L_{X} o \bar{\partial}$, we obtain $d^{c} o L_{X}=L_{X} o d^{c}$. Hence, applying Proposition 2.2, we obtain $d d^{c} o L_{X}=L_{X}$ odd ${ }^{c}$. This implies that

$$
L_{X} d d^{c} u=d d^{c}\left(L_{X} u\right)=2 i \sum_{j, k=1}^{n} \frac{\partial^{2}\left(L_{X} u\right)}{\partial z_{j} \partial \bar{z}_{k}} d z_{j} \wedge d \bar{z}_{k}
$$

Acknowledgments. The author would like to thank Professor Nguyen Huu Quang and Professor Kieu Phuong Chi for their valuable suggestions.

## References

[1] Kieu Phuong Chi, Nguyen Huu Quang and Bui Cao Van, The Lie derivative of currents on Lie group, Lobachevskyii Journal of Mathmatics, Vol. 33 (2012), No. 1,10-21.
[2] Dinh Tien Cuong anh Nessim Sibony, Introduction to the theory of currents, American Mathematical Society-Providence-Rhode Island. Volume 84 (2005).
[3] L. Falach and R. Segev., Reynolds transport theorem for smooth deformations of currents on manifolds Math. Mech. Solids 20 (2015), no. 6, 770-786.
[4] Dao Trong Thi and A. T. Fomenko, Minimal surfaces stratified multivarifolds, and the Plateau problem, American Mathematical Society-Providence-Rhode Island. Volume 84 (1991).
[5] Katharina Habermann, Andreas Klein, Lie derivative of symplectic spinor fields, metaplectic representation, and quantization. Rostock. Math. Kolloq. 57,(2003), 71-91 .
[6] S. Kobayashi and K. Nomizu, Foundations of differential geometry, Inter- sience Publishers. New York - London. Vol. 1, (1963); Vol. 2, 1969.
[7] Jung-Hwan Kwon and Young Jin Suh, Lie derivatives on Homogeneous real hypersurfaces of type a in complex space forms. Bull. Korean Math. Soc. Vol 34 (1997), No. 3, 459-468
[8] R. P. Singh and S. D. Singh, Lie Derivatives and Almost Analytic Vector Fields in a Generalised Structure Manifold, Int. J. Contemp. Math. Sciences, Vol. 5, (2010), no. 2, 81 90.
[9] Nguyen Huu Quang and Bui Cao Van, Some properties on the Lie derivative of currents and its applications, Bulletin of the Iranian Mathematical Society, Submitted 2014.
[10] Nguyen Huu Quang and Bui Cao Van, The Lie derivative of normal connections, Russian Mathematics, Submitted 2014.
[11] B.N. Shapukov, Lie derivatives on fiber manifolds, J. Math. Sci. 108 (2002), no. 2, 211-231.
[12] A. Ya. Sultanov, Derivations of linear algebras and linear connections J. Math. Sci. 169 (2010), no. 3, 362-412.
[13] K. Yano, The theory of Lie derivatives and its applications, North-Holland Publishing Co., Amsterdam (1957).
[14] Frank Warner. Foundations of Diffrentiable Manifolds and Lie Groups. GTM No. 94. Springer Verlag, First edition, (1983).
[15] Shigeyuki Morita. Geometry of Diffrentiable Forms. Translations of Mathematical Monographs No 201. AMS, First edition, (2001).
[16] S. Gallot, D. Hulin, and J. Lafontaine. Riemannian Geometry. Universitext. Springer Verlag, second edition, (1993).
[17] S. Lang, Diffrentiable and Riemannian manifolds, Third edition, Graduate Texts in Mathematics, 160, Springer-Verlag,New York, 1995.

Bui Cao Van,
Department of Mathematics, Vinh University, 182 Le Duan, Vinh City, Vietnam
E-mail address: buicaovan@gmail.com


[^0]:    2010 Mathematics Subject Classification. 30A01, 30F20, 30 C 05.
    Key words and phrases. The Lie derivative, forms of bidegree, complex manifold.
    © 2016 Universiteti i Prishtinës, Prishtinë, Kosovë.
    Submitted February 7, 2016. Published October 16, 2016.
    Communicated by Yusuf Yayli.

